D1vISION WITH A REMAINDER II (H - SET 4)
DIVISION WITH A REMAINDER

Name:

Time:

Score:

) —9512 + (=2) =
2 97347 + (—10) =
573 —45042 = 10 =
1) —49308 = 7 =
55 —21081 + 7 =
516) 22750 + (—10) =
517) —51454 + 6 =
) 38391 + (—4) =
519 —24290 = 3 =
0 17551 + (—6) =
1) 37093 + 5 =

w2 26478 + (—6) =
w3 4211 + (—4) =
) 24631 + (=3) =

) 737+ 1=

Mathematics: Division - Level 8 - Horizontal - Set 4
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—925791 + (—3)

—48298 = (—9)

—13786 = (—6)

79243 =10 =

98042 = 10 =

—15870 = 2 =

—1023 +5 =

136 =1 =

—70588 + (—10) =

—26050 -4 =

10924 =2 =

—21407 + (—5)

10207 =+ (—3)
—75021 -9 =

—38569 + 4 =
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